++
++
-+

+1

$4

4+

H

++

.4+

T+t

+

I_h_ggm e —-—ng&m sm&

i %—" l+2+LEz a2 “*;1- %

e T YR e +%'(A-) +...1— WA F..
=4 -TH - "“9"1' R
= (-t e ete Y rilp-r e+ e’ )

~(ps5H = l ‘L‘ﬁ' 1'%—'6:* o.c_n e
~sinh= 6o +ire’s,

Therctore A
" ei*= +4 n‘sﬂ : e
M IS‘ Zét 'l'_\wn

e2= eAriy= (Reir= ﬁ"l_cjzﬂ,e)t,s :mi,ﬁ

&

e P =os (Wa)+a5:a(Th)= A
2. e = fos(r) taSt)=~-\

Polar_____Exy.votnﬁnl Fnr\m
Z 2 Rtdy : e st
X=ycostr y:rs_.ﬁﬂ-
OE”er.ﬁ-_usmﬂ
= 2= rel¥=1z1e
gThtL(, 'F'rms Of' A Cmnplc)s hvm)ﬁf‘-

Z=Xady =rlcesf+dsind) Z= re
£ L A T

2 hAM'A %,:l:" E onhﬂ‘ al

L o e



4 7 T (BN
b
e
)\r"r-% %
V= 2 s () rasinl ) =07 2T o
12 = T (los (T tisia(FP))=NZ

= (1+4)1=3) = (ra%)lrc%) 2e°=2

¥ Complex wnylsipliuativa.
~ o L;-ml)«_mA’.mi:_AchA_AM Au;«l dh

o lri= Dei™ = piWaz

1z <355 bl

iju;ks

Ll' (‘ *)\o\ [E Jloi"llo%em%

= 7% Clooal‘. ﬁ.aﬂ'/q-

- ’_‘f" e& 9"'4 ﬂ’l/a(-

=9 (1) o 2

= (=125°0 +a4),

S Les nﬁMf:bL(u_

Q__

2' =121 = 121 e "=\ Z\" (cos (nB) +4 50

L 2=1216/%=12\e?*7 weZz




;""iz;:iii:ﬁiﬁ> e

1

haltﬁt)_‘:'.}mmcg&)_ﬂgl_é)imﬁ)__

- 9“9""” = (oS is)

- eitit=(c,s Fisiaf ) Cosd 4isind)

= (a3 6Losd = SinBSind +i (Suntlosd 4 Lost5ind).

= (o5(d+d)=LosbCosd ~5 06504

Sinld+4) = Siat cosd +L05 6 5ind

3

o524 = 7 (1 4¢os(26)).

B o)

| L = (V= o= s (28) 4 isia6
i | = (o5 t-S = Cos 2 | 205430251020

‘ =y Cos-{ +toa’3-_=nn,$1-i'rwjln&f_‘-'=2£ub iné
L D st = (o324, S'alB=2(osES50nb
| loge= L3core

...-,.?T....._._- ‘J— e ————————————————
I
I
:




